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DATA ANALYSIS
Attempt any two from the following questions : 2x20=40

1. What are the requirements of a good mesure of centra tendency ? Does the arithmetic
mean satisfy these requirements ? Show that for a given set of variables AH>GM > HM .
5+5+10

2. Diginguish between complete enumeration and sample survey. Describe the various methods
of collecting primary data and comment on them. Write a brief note on NSS consumer
urvey. 5+10+5




3. Discuss the different stages of dtatistica enquiry. What are the attributes of a good table ?
Design a blank table with the proper title, headings and sub headings to represent data
relating to the distribution of employees in a factory classfied according to (i) sex; (i) Age
below 25, between 25 and 35, 35 and 45, 45 and above (iii) Category : Skilled and
Unskilled and (iv) Wages (in Rs)) : Less than 500, between 500 and 750, above 750.

6+6+8

4. What is random sampling ? How would you draw random numbers using random number
series ? Explain the terms, ‘parameter’ and ‘statistic’. Find the expectation and standard

error of sample mean under SRSWR and SRSWOR. 2+4+4+10
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OR
CONTEMPORARY ECONOMIC ISSUES
Answer any two questions : 2x20=40

1. What is meant by ‘double taxation’ of savings ? Digtinguish between non-rivary and non-
excludability property of a public good. What is GST ? Clearly show and explain the
position of Lindahl equilibrium. Which types of taxes are seen more in Indian tax system ?
Is it beneficid for the whole economy ? 2+2+1+5+4+6=20

2. Under what conditions that value of Balanced Budget Multiplier is more than one or equa
to one ? What do you mean by progressive system of taxation ? Distinguish between
cydlicd deficit and structurd deficit. Define canons of taxation. 5+5+5+5=20

3. How does an interndly held public debt differ from an externd public debt ? What is * spite-
effect’ ? What are demerits of the value added tax ? Explain the concept of horizontal
equity under the ability to pay principle of taxation. Write a short note on the burden of
public debt. 4+4+2+4+6=20

4. Didinguish between direct tax and indirect tax. What is deficit financing ? Explain why deficit
financing is necessary in India ? What is the Pareto optimality condition in a two-good

mode with purely private good and a public good ? 6+2+6+6=20
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